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#include <time.h>

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
int main(void)
{
int human,comp, judge, j, jmax;
int win,draw,lose;
char yn;
human=0; comp=0; judge=0;j=0;
win=0; lose=0; draw=0;
srand (time (NULL)) ;
printf ("L AFATHETT! MEPYETH? \n ");
scanf ("%d",&jmax) ;
do {
comp = rand()%3;
printf (MBA TSI W....(0) F— (1) FaF (2) /8—:");
scanf ("%d", &human);

if (human > 2) {
printf ("EAXZ D 0-2 TF\n");
printf ("BATLEIWL....(0) ¥F'— (1) FaF (2) /8—:");
scanf ("%d", &human);

s

switch(human) {
case 0: printf("Z—\n"); break;
case 1: printf("F3F\n"); break;
case 2: printf("/8—\n"); break;

}
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printf ("FA (AVE21—%—) iE\n");
switch(comp) {
case 0: printf("4'—"); break;
case 1: printf("F3*"); break;
case 2: printf("/8—"); break;
}

printf ("T¥\n");

judge=(human - comp +3) % 3;
switch(judge) {
case 0: printf("5IELFTY\n"); draw++;break;
case 1: printf("®H%/=DAIFTTT\n");lose++; break;
case 2: printf("®HR-DOBEESTT\n"); win++;break;
}

JH+;
}while(j<jmax) ;
printf ("BHEI S &, %d ¥%d Bi%d B%d 9T, \n",jmax, win,lose, draw);

return (0);

}
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C E5
@ i=1;do{ - -- i++; }while(i<=100)
@ i=1;while(i<=100){--- }

@ for(i=1;i<=100;i++){--- }
@ it+E++i DIEL.
printf ("%d\n",++1i);
printf ("%d\n",i++);
HHARTHDB EHB. )
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@ do i=1,100

enddo
(3¥) Fortran77 Tl&
do 10 i=1,100

10 continue
DIRIC, XES%EDIFTWiz (gfortran TH OK) A%, SHEBEIEDTA
BEMEHZDT, XBEBSIEFEHLLRVWEIICTEI E.

@ do i=1,100,10 OFICT 3 &, 10 WA e B.
@ do i=1,100,di OFICL T, di=0 ®A>TWBE IS5 —TLFx3.
@ do while
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